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- g(Ph), 7t=&(Cd), ZF(Cn), 7=(Cw), BZHMn), =(Fe), HZAND)

H|2x(As), W€ EBe), &FrH(AD, Z5(Ca), vl1u5Mg)

i

Ho

_Z:l

gL 0T, 760mmHg F=4 )
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(=) 4
Nl gz
SER"
o =2
O z5% A4, Ad 54 v F=0g
- € ¥ - PM-10, As, Pb 5 170 &%¢] % 7k (0.07 ~ 0.868] 74
Mg Dl =9 5= 57} (1324 =7
- A SO VIO, As 5 7 3R] B A (016 ~ 0.65H) 7R
Ni, Mn, Cr & 571 39 5= =7} (0.17 ~ 1.308) <7D
T8 PO | As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
- A<Lohy] -0.07 | -0.76 | -0.71 | -0.86 | -0.63 | -0.73 | -0.64 | -0.51 | 1.32 | 0.00 | -0.29 | -0.63 | -0.52
At
(51
AEzdo] | -0.18 | -0.50 | -0.65 | -0.50 | 0.70 | 0.17 | -0.19 | 1.10 1.36 | 0.00 | 0.32 | -0.16 | -0.40
¥ MGEHs, WA, BS54 Y B A8
/\
O W Fv5 2%
(S :pg/ m)
T = 530 As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
3t = 12 0.0006 | 0.0016 | 0.0002 | 0.0017 | 0.0039 | 0.0975 | 0.0004 | 0.1406 | 0.0000 | 0.1734 | 0.0011 | 0.0390
o A 13 0.0004 | 0.0019 | 0.0001 | 0.0015 | 0.0099 | 0.1166 | 0.0014 | 0.1701 | 0.0000 | 0.1517 | 0.0032 | 0.0248
a9
¢ 17 0.0005 | 0.0035 | 0.0002 | 0.0087 | 0.0308 | 0.3587 | 0.0171 | 0.2112 | 0.0000 | 0.2519 | 0.014 | 0.0460
o o 14 0.0005 | 0.0023 | 0.0001 | 0.0039 | 0.0149 | 0.1909 | 0.0063 | 0.1740 | 0.0000 | 0.1923 | 0.0049 | 0.0366
SR= 15 0.0021 | 0.0080 | 0.0007 | 0.0104 | 0.0557 | 0.5240 | 0.0129 | 0.0751 | 0.0000 | 0.2723 | 0.0134 | 0.075%
Az 17 0.0010 | 0.0066 | 0.0002 | 0.0023 | 0.0127 | 0.23%4 | 0.0030 | 0.0737 | 0.0000 | 0.14%4 | 0.0058 | 0.0613
%237 7)== PM-10 100ug/m (Y ), Pb 0.5ug/m (A H )
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KH
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o
<+

NO
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o
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r
Ho

= (%)

s

Ba712(0)
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70.9
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- A4 o] PM-10, As 5 1) 59 5= T4 (0.01 ~ 0.654] 7+&)
Mg Vi &&59 & F7} (1.82v} =7h
- Ad ¢ i8] PM-10, As 5 97 &9 % 744 (0.33 ~ 0.808] 7&)

Mg, Ca 27] &59] 5% 37} 0.15 ~ 1.998] =7}

;‘%Eé] -0.20 | -0.57 | -0.57 | -0.50 | -0.48 | -0.53 | -0.50 | -0.60 | 1.82 0.00 | -0.01 | -0.65 | -0.28
oraal
(51 A

3%_] -0.50 | -0.67 | -0.80 | -0.33 | 0.00 | -0.52 | -0.44 | -0.67 | 1.99 | 0.00 | 0.15 | -0.39 | -0.45

=]
- g(Pb) : 0.0016pe/m = 273 7]10.5ug/m)e] 0.3% =<

(H9):18/ m)

T+52 | PMI0O | As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
=9 12 0.0006 | 0.0016 | 0.0002 | 0.0017 | 0.0039 | 0.0975 | 0.0004 | 0.1406 | 0.0000 | 0.1734 | 0.0011 | 0.0390

4 15 | 0.0014 | 0.0037 | 0.0004 | 0.0033 | 0.0083 | 0.1933 | 0.0010 | 0.0499 | 0.0000 | 0.1750 | 0.0031 | 0.0541

A5 24 1 0.0018 | 0.0081 | 0.0003 | 0.0017 | 0.0081 | 0.1753 | 0.0012 | 0.0470 | 0.0000 | 0.1504 | 0.0018 | 0.0711




- A o) PM-10, As 5 1R 889 v A (019 ~ 0.888] Z&)
Mg Ul &9 5= <7} (1.9941 =7b
A FL Ol A, Pb 5 97 #5e) = 24 (0.07 ~ 0.630) )

PM-10, Mg 5 37l &5<] 5= 571 (0.08 ~ 1.18# F7)

T 52 PMIO | As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

iy -0.19 | -0.83 | -0.75 | -0.86 | -0.72 | -0.88 | -0.74 | -0.75 | 1.99 | 0.00 | -0.33 | -0.69 | -0.55

Mdzdm] | 0.08 | -0.29 | -0.63 | -0.38 | -0.15 | -0.07 | -0.38 | -0.35 | 1.18 | 0.00 | 0.26 | -0.43 | -0.43

- G(Ph) : 0.0019ug/mi = 3737)30.5ue/nd)2] 0.4% FZ=<

(29:ug/ m')

=4 13 | 0.0004 | 0.0019 | 0.0001 | 0.0015 | 0.0099 | 0.1166 | 0.0014 | 0.1701 | 0.0000 | 0.1517 | 0.0032 | 0.0248

4 16 | 0.0023 | 0.0075 | 0.0007 | 0.0054 | 0.0810 | 0.4468 | 0.0056 | 0.0569 | 0.0000 | 0.2268 | 0.0103 | 0.0555

iz 12| 0.0006 | 0.0051 | 0.0002 | 0.0018 | 0.0107 | 0.1882 | 0.0021 | 0.0780 | 0.0000 | 0.1201 | 0.0056 | 0.0438

- 2L gpl: As, Pb 5 107) 329 =5 7A (0.39 ~ 0.814] 74)
PM-10, Mg 27 &= % =7} 0.21 ~ 0.789) =7b
J =9 o) 5 ) 3o % 7k 0.31 ~ 04749 Z4)

PM-10, Cd 5 97 &=¢ &= 57} (0.03 ~ 1.954) =7}




T2 PO | As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

KLohy] 0.21 | -0.81 | -0.73 | -0.78 | -0.62 | -0.60 | -0.62 | -0.47 | 0.78 | 0.00 | -0.39 | -0.61 | -0.61
4]
(51)
AA=diH] | 0.06 | -0.31 | -0.47 | 067 | 1.54 | 059 | 0.05 | 1.95 | 1.20 | 0.00 | 0.52 | 0.03 | -0.33
. S 2=
- 3(Pb) : 0.0035pg/m 2 A 7)320.5pe/ 1) 0.7% ==
(9 epg/ m)
T2 PO As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
=9 17 0.0005 | 0.0035 | 0.0002 | 0.0087 | 0.0308 | 0.3587 | 0.0171 | 0.2112 | 0.0000 | 0.2519 | 0.0104 | 0.0460
X4 14 0.0026 | 0.0128 | 0.0009 | 0.0226 | 0.0777 | 0.9319 | 0.0321 | 0.1185 | 0.0000 | 0.4150 | 0.0269 | 0.1171
g 16 0.0007 | 0.0066 | 0.0001 | 0.0034 | 0.0194 | 0.3426 | 0.0058 | 0.0961 | 0.0000 | 0.1658 | 0.0101 | 0.0691

_1 212 X191t Hiul

O FAk &40 A€ 55 H|1 [8g A12 DiEoZ 2020. 78 XIE Hlil

AR thm] 2 Ph, As 27 @52 Aol WAl UEseH

_l

Cd, Cr, Cu & 107} &&= 9ol =A YEhd.
- 2419 iRl Ph, Cd, Cu 5 PN @52 Aol @A yegteH
Cr, Ni, Be 37} &5 Aol =4 Yebd.
- |(Pb) F= : Ao] FAL ARG WA UERd
- 7 0 0.0080pg/md - FAF 0 0.0087pg/md - =4F ¢ 0.0737/nd
- dFe) & : Aol F4t Boh =7, SART BA UEhd.

- A 0.5240pg/m - FAF ;0 0.35%5ug/m - =AF ¢ 0.5892pg/nd



(S):pe/ m)
SIS Pb o ar Qu | Mn | Fe N A CGa | Mg | As Be
7 | 0.0080 | 0.0007 | 0.0129 | 0.0134 | 0.0557 | 0.5240 | 0.0104 | 0.0756 | 0.2723 | 0.0751 | 0.0021 | 0.0000
(26%09#7) BAF | 0.0087 | 0.0006 | 0.0031 | 0.0115 | 0.0200 | 0.3595 | 0.0027 | 0.0727 | 0.1857 | 0.0742 | 0.0042 | 0.0000
94t | 0.0737 | 0.0073 | 0.0019 | 0.0318 | 0.0612 | 0.5892 | 0.0046 | 0.1179 | 0.2869 | 0.1144 | 0.0271 | 0.0000
(S :pg/ m)
Pb Fe
0.10 0
1.6
2 0.0737 i
05892
m 0.0087 0.3595
A T =4 g 24 =M
< XY FLIE = vl >
O F4h 4] Ad 5€ % vl
AR tfv] : Pb, Cd, Cr 5 127 AsHE 7o) BA Yebd
24219 Y] : Pb, Cd, Cu 5 117 =28 Ao ¥A Jehtor
Cr Ul &5 Aol A4 YErd
3 (Pb) % : Aol F4F 4R G WA YER.
- 749 0.0066pg/m - FAF 2 0.0092pg/ of
HFe) %

- 73 0.2354 g/ mi

B .
- FAE

: 0.3045pg/ m

LAk ¢ 0.0377ug/nd
Aol BAE 4R T UHA YERE.

<4t ¢ 0.3581 g/ nd



(S9):pe/ m)

oX.
o

0.0066 | 0.0002 | 0.0030 | 0.0058 | 0.0127 | 0.2354 | 0.0023 | 0.0613 | 0.1454 | 0.0737 | 0.0010 | 0.0000

A=Y

(‘20‘19° 8) BAF 1 0.0092 | 0.0007 | 0.0042 | 0.0092 | 0.0215 | 0.3045 | 0.0032 | 0.0733 | 0.2000 | 0.1422 | 0.0039 | 0.0000
2AF | 0.0377 | 0.0030 | 0.0017 | 0.0205 | 0.0161 | 0.3581 | 0.0063 | 0.1440 | 0.2903 | 0.1547 | 0.0071 | 0.0000
(H:pg/ m')
Pb Fe
10 2
008 15
006 12
0.0377
i, oo mE 0w i
48 LS =4 44 S =M




[8 A 1] ZADIZE J|A S qzan: =32 =3 1=
O =¥ A8AZF 7|7H8. 10. ~ 8. 14) =AHAE 7|A4A3
- J{7|L : 27.0CGEHs) ~ 28.0C(E<9h
- AHEE 0 81.8%(E-<) ~ 87.4%(5t=)
- Y=L 0.8m/s(E) ~ 1.8m/s(3HE)
ESAHLE 7143E D>
Hd71(C) AT (%) = 2(m/s)
REL
94 | 29 | o | WA | 2 | a8 | 94 | 29 | e
1A X} 26.9 26.9 25.5 90.5 85.6 94.8 2.0 1.0 1.7
2U X} 27.2 27.4 26.3 90.1 83.1 89.3 1.6 0.8 1.9
3AUX} 27.4 27.7 27.1 92.4 85.9 87.9 1.2 0.7 1.3
4AX} 28.4 28.5 27.8 82.7 79.3 83.1 1.6 0.8 1.7
52X} 29.1 29.4 28.6 77.7 75.0 82.0 1.9 0.9 2.5
b ot 27.8 28.0 27.0 86.7 81.8 87.4 1.7 0.8 1.8
O =g AN =
- HAS Z2AL  GAF 41.0%S FA0E A ~ GAE 70.1% LAY
L BE EHA: BA - BEE 006 94 ~ 3F 32.0% 24
- Stsg AL 9A ~ 5F 63.0% EAZE 9.2% A
 EAHAE ANBAHZIZE 3= >

Wind Speedim/s )
—
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